20205/ A A Stw7|YH = ZF(3X)FIMEHAE KIZF 0| £ (Bakedbaker)

0

7] 202064 03 015 2021 028 287X

(2 &
I = 20202| A ¢ = 20202| A ¢ = - X o
] = e HABEHA () 231570l &4(B) il dE= =
T EY 4,348,700 4,273,000 75,700
e 11,000 11,000 =
2. 0= 1,000 1,000 =
3. MEE
3.HEZ0&
3.8 3a
3.7[Etaf &% 1,000 1,000 -
PEEEEE] 10,000 10,000 =
3.3 nE=7 - - -
e
4 E}7| &t
| XEA|
3.8 & - - -
4. Holaddhs| A Ml 2
4 WH| 3 AMAF
ArerEE che| A M el 2
3.7|8&7 - - -
4. Leo| 23
4. X|H7| 25
4 ART|2Z
3.0l 10,000 10,000
3. MI7|2fRsHol9
3.7|Etg el el
1.0|ALEH 7|0 H At F 4,337,700 4,262,000 75,700
2.0| AL 7|0 2 A2 4,337,700 4,262,000 75,700
3.0AL2H7[0| 8 X2 4,337,700 4,262,000 75,700
| AISAZEA 4,348,700 4,273,000 75,700
ErEEE 120,000 120,000 =

2.7 ZoH e

3. E7| A=l

3.87| "~ =0l

L R L

2. QlH|X| =

3.20




20205/ A A Stw7|YH = ZF(3X)FIMEHAE KIZF 0| £ (Bakedbaker)

7] 202064 03 015 2021 028 287X

a} 20205 A A = 20203 H 4 =

SZ(A-B) MEZA

=
=[] = A= HZEHLHA) 2x}5= 20l 4H(B)

3.405

3. A+

3.&=

3.HAZX =Y

2. mhojd| et zta|H| 120,000 120,000 -

3.52/F4H|

3.0q8| W By

3.&s4Hl

3. =Ygy

|

NFH3F 20,000 20,000

X SRR

Bl

HE =

A FRIH|

|

wEHH| 100,000 100,000

= A el H|

EEL

a2 EH|

ASTT=

LM FH|

ZhH|

=2
S

nN
02
1)
o

A EH|

SIS

ol |

x| Zol &t

AR (NP TS

WV WPV W|W|T|W W W W W|W[W|W|W|W|W|W|W|wW

)
HieRcEed
EEEEEELDE]

1.0|AFZALZ| 0| E AL 4,228,700 4,153,000 75,700

2.0|ALERE7| 0l E RS 4,228,700 4,153,000 75,700

3.0|ALEX7| 0] # A5 4,228,700 4,153,000 75,700

M
L
o

—~

/[
12




